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PEHHRD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
5.944 m3 = ((0.000 - 0.425) * 0.710 % 0.000) + (0.425 * 0.710 * (19.700 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
2.620 m3 = ((0.000 — 0.425) * 0.360 * 0.000) + (((0.425 * 0.360) — 0.020) * 19.700) + (0.425 % 0.360 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
0.586 m3 = ((0.000 * 0.000) — (0.425 * 0.000)) * 0.000 + ((0.425 * 0.070) * (19.700 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(PRI 0.418 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 % 0.050 * (19.700 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.418 m3 = 0.418
Fk A5y 1 |FEE = EEE LS e
CHiil) 5.944 m3 = 5.944
RN 2 Mok = mEIELE
(Jitin) 5.023 m3 = 5.023
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 0.586 m3 = 0.586
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T T &% E ft E & (f & X )
REEEESES . 15000400
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE L—+rES [ 02 | JL—r&#% [#E&DP=600 G150 x W150
JE TR R G Y N A - S
B 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
6.300 m = ((6.300 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000
ElER A 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
2.677 m2 = ((0.000 - 0.425) * 0.000) + (0.425 * (6.300 + 0.000 + 0.000 + 0.000))
i 1 |l = liE X 54 X (ETHER + RUER + /iIEE + MEER)
0.294 m3 = 0.425 * 0. 110 * (6.300 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
1.606 m3 = 0.425 * 0.600 * (6.300 + 0.000 + 0.000 + 0.000)
) 1 Mk = IR X B X (ETHER + RUER + AWER + WEER)
0.187 m3 = 0.425 * 0.070 * (6.300 + 0.000 + 0.000 + 0.000)
EHELE IR 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
2.677 m2 = ((0.000 - 0.425) * 0.000) + (0.425 * (6.300 + 0.000 + 0.000 + 0.000))
A IH 1 [ EE = ((EFIE - SliE) X FEER) + (Fag X (ETiER + RIEER + IEER + MEER))
2.677 m2 = ((0.000 - 0.425) * 0.000) + (0.425 * (6.300 + 0.000 + 0.000 + 0.000))
AR IH 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
2.677 m2 = ((0.000 - 0.425) * 0.000) + (0.425 * (6.300 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
TEES | 04 | TIEEW |BERRHAPES 150KETE -8 [ 02 | J—r&% [#E&DP=600 G150xW150
JE TR R G Y N A - S
PEHHRD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
0.294 m3 = ((0.000 — 0.425) * 0.110 * 0.000) + (0.425 % 0.110 * (6.300 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
0.837 m3 = ((0.000 — 0.425) * 0.360 * 0.000) + (((0.425 * 0.360) — 0.020) * 6.300) + (0.425 % 0.360 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
0.187 m3 = ((0.000 * 0.000) — (0.425 % 0.000)) * 0.000 + ((0.425 * 0.070) * (6.300 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(PRI 0.133 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 % 0.050 * (6.300 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.133 m3 = 0.133
Fk A5y 1 |FEE = EEE LS e
CHiil) 0.294 m3 = 0.294
RN 2 Mok = mEIELE
CHii) 1.606 m3 = 1. 606
Fk A5y 1 |HEE = MR 18 e
(FERIED ) 0.187 m3 = 0. 187
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T T &% E ft E & (f & X )
REEEESES . 15000400
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE L—+rES [ 03 | JL—r&#% [tE&DP=1200 G150 x W150
JE TR R G Y N A - -
B 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
ElER A 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
6.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
i 1 [EEsc = %EiE X B X (ETER + AMER + AIEE + MEER)
4.792 m3 = 0.750 * 0.710 * (9.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
4.050 m3 = 0.750 * 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
) 1 Mk = IR X B X (ETHER + RUER + AWER + WEER)
1,485 m3 = 0.750 * 0.220 * (9.000 + 0.000 + 0.000 + 0.000)
EHELE IR 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
6.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
A IH 1 [ EE = ((EFIE - SliE) X FEER) + (Fag X (ETiER + RIEER + IEER + MEER))
6.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
AR IH 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
6.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
SRETEEEES : 15000400 L)k ETE]
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE L—+rES [ 03 | JL—r&#% [tE&DP=1200 G150 x W150
JE TR R G Y N A - -
HREIELD 5 L U [B = (R - miE) X JEh X fFER) + GFliE X E2 X (ETEE + /MMEE + SUBEE + BEEE))
4.792 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 * 0.710 * (9.000 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
2.250 n3 = ((0.000 — 0.750) * 0.360 * 0.000) + (((0.750 * 0.360) - 0.020) * 9.000) + (0.750 x 0.360 * (0.000 + 0.000 + 0.000))
FEETHORL | 1 [ = (GEFEEE < J27) - GRmmbEEE < BEE5) X SFEE + QEambEEE X 27 X (LTER + [UER + ARIEE + HIER)
1.485 m3 - <<o 000 * 0. 000) ~ (0.750 * 0.000)) * 0.000 + ((0.750 % 0.220) % (9.000 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
GREHRH) 0.337 m3 = ((o 000 — 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
7% Ay 1B = SRR UE 1R
(RPEA ) 0.337 m3 = 0. 337
¥ Ay e 1 = JEHIELE L&
(iit#1) 4.792 m3 = 4.792
Ry 2[R = fmEEE LR
(Hii) 4,050 m3 = 4. 050
Fk A5y 1 |HEE = MR 18 e
(fERIED) 1.485 m3 = 1.485
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T T & E ft E & (& B X )
REEEESES . 15000400
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE -8 [ 04 | J—Fr8%# [BEEREEEGI50 X WI150

JE TR R G Y N A - -

S 1 |ME = (LTEE + £IEVEE « 3UEE + HEER) + ([FTIRANE - SmimsiigE X STmE)) X kiEkk
24.000 m = ((24.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000

ElER A 1 [FE = (GETiE - SEiE) X ERER) + GFlig X (ETHER + KIER + RIFERE + MEER))
10. 200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

HEH| 1 P = R X BA X (ETIEE + KRiEE + e E + fEIER)
10.098 m3 = 0.425 * 0.990 * (24.000 + 0.000 + 0.000 + 0.000)
R 2 |HEE = ((C5EE X BA) - Fmk) X (ETER + WMEER)) + QFlilg X Ei X (RIFEE + RIEER))

2.208 m3 = (((0.425 * 0.240) — 0.010) * (24.000 + 0.000)) + (0.425 * 0.240 * (0.000 + 0.000))

LR 1 [BeE = (GETdE - 5miE) X EPER) + OFilig X (ETHER + RER + RIFEE + MEER))
10.200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

FEAEAE IH 1 [FE = (GETiE - EiE) X PER) + GFlig X (ETHER + KIER + RIFERE + MEER))
10. 200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

AR IH 2 |FE = (PR - EEE) X SPEER) + G5EiE X (ETHER + SR + RIBER + WEER))
10.200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

PEHIEEO R L 1 [FaE = (GEPiE - EiE) X JBEA X fPEER) + QRlE X EA X (ETHER + SER + RIER + WEER))

10.098 m3 = ((0.000 — 0.425) * 0.990 * 0.000) + (0.425 * 0.990 * (24.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400[ L H)EEEE]
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE -8 [ 04 | J—Fr8%# [BEEREEEGI50 X WI150
@ i EH - A S
7% LAy @ 1 |aEmi = (GPIE - %R X B X SFEREE) + (RliE X Eh X (ETEE + AREE + RIEE + HEHEE))
(EliZEHR A 0.510 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 * 0.050 * (24.000 + 0.000 + 0.000 + 0.000))
RG] 1| = SRR e R
(il ) 0.510 m3 = 0.510
7% LAy @ 1 [ = dmyiss s 1k
(BEH) 10.098 m3 = 10. 098
RG] o Kok = mEIEE
CHii) 2.208 m3 = 2. 208
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T I # 2 5 & & it E x )
BEEEEEES . 15000400
[ TrEEE | 04 | TEAH |@ERBHAPEGISOAEIE = [ o5 | wW—r&# [&iEG150xWi50

& F) EHEEEEE T A T

S b 1 [E = (ETEE + REVIEE + AMIEE + HEEE) + (GEFRHIE - %@imsig) < MHFREPE) < bk
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000

SR 1 [BE = (HEFIE - @) X SRR + ORI X (ETHEE + 2RIEE + AMRIER + WMEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

$ie 1 1 [Edsch = EiiE X B X (ETHER + RRER + ARIER + WMEER)

0.862 m3 = 0.750 * 1.150 * (1.000 + 0.000 + 0.000 + 0.000)

A%EHE IH 1 [BE = (HEFIE - @) X SRR + QIR X (ETIEE + ARIEE + AMRIER + WEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

A1 IH 1 [BE = (BEFIE - @) X SFEER) + ORHEIE X (ETHEE + ABIEE + AMRIER + WEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

A1 H o [BE = (TR - %EiE) X MFRIEE) + OR@iE X (ETHER + RIBER + ARER + MELER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

S B L 1 [BE = (GEFIE - @) X B4 X SFER) + GREIE X B4 X (ETHER + RER + AER + MELER))
0.532 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
I R L o [BE = (TR - %@iE) x B4 X MFRIER) + CGFlilE X Eh X (ELER + R[EIER + AWIER + MELER))

0.150 m3 = ((0.000 — 0.750) * 0.200 * 0.000) + (0.750 * 0.200 * (1.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400[ L H)EEEE]
| TiEEE [ 04 | THEEH [BERPHAPESIS0AEIE -8 | 05 | J—r&%# [B#EG150xWi50
[El FH - A S
7% Ly @ 1 |sEmi = (PR - %R X B X SFEREE) + (RliE X Eh X (ETEE + AREE + RIEE + HEHEE))
(EliZEHR A 0.037 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
RG] 1| = SRR e R
(il ) 0.037 m3 = 0.037
7% LAy @ 1 [ = dmyiss s 1k
(BEH) 0.862 m3 = 0. 862
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T I % E f E & (8t &8 % )
BEtEEEES . 15000400
| TiEES | 05 | THEAH |(MERDHBKEIS [L-rES [ o1 | —Fr&¥ |UIEERCGERER) #50 x #4530

e f EH I A

S G 1 [HE = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slmyiig) < MFmEi) < ok
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.520) * 0.000)) * 1.000

S 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEEER))
0.520 m2 = ((0.000 — 0.520) * 0.000) + (0.520 * (1.000 + 0.000 + 0.000 + 0.000))

$ig 1) 1 [Memdch = WliE X JEh X (ETHEE + AWERE + RAREE + MELER)
0.369 m3 = 0.520 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
Ji 1) o |MmkiE = WEiE X B4 X (LTHEE + R/IEE + AEE + HEER)

0.260 m3 = 0.520 * 0.500 * (1.000 + 0.000 + 0.000 + 0.000)

fEA v 1 [ = mllE X B X (LTHEE + AER + ARER + WEER)
0.104 m3 = 0.520 * 0.200 * (1.000 + 0.000 + 0.000 + 0.000)

S IR 1 [ = (GkFPiE - SEiE) X RERIRIER) + GRliE X (LTER + R/EE + AWEE + MEER))
0.520 m2 = ((0.000 — 0.520) * 0.000) + (0.520 * (1.000 + 0.000 + 0.000 + 0.000))

AL 1 [ = (GikPiE - SEiE) X REFIRIER) + GRliE X (LTHER + /EE + AHEE + WMEER))
0.520 m2 = ((0.000 — 0.520) * 0.000) + (0.520 * (1.000 + 0.000 + 0.000 + 0.000))

AL o [EE = (IR - %EiE) X MFER) + (5@l X (LTEE + 2EE + AREE + BEER))
0.520 m2 = ((0.000 — 0.520) * 0.000) + (0.520 * (1.000 + 0.000 + 0.000 + 0.000))
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T I % E f E & (8t &8 % )
LEHEGEEES . 15000400 L HEEEE]
TiEES | 05 | THEAH |(MERDHBKEIS [L-rES [ o1 | —Fr&¥ |UIEERCGERER) #50 x #4530
e f EH I A
JEHELD R L 1 [ = (kFiE - SEiE) X B2 X fFEE) + (R X Eh X (LTHEE + RIER + AMER + MELER))
0.369 m3 = ((0.000 — 0.520) * 0.710 * 0.000) + (0.520 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
JEHELD R L o [HE = (IR - %EiE) X Eh X MFRER) + (@R X B2 - Fmi) X LTER) + GHElE X 85 X (RIMER + AMIERE + MELER))
0.133 m3 = ((0.000 — 0.520) * 0.260 * 0.000) + (((0.520 * 0.260) — 0.002) * 1.000) + (0.520 * 0.260 * (0.000 + 0.000 + 0.000))
B FHD R L 1 [ = (F9EE x B2 - GHBREIEEEE X BEER) X MFRIERE + CRayEIEE X E4) X (LTEE + RER + AMIER + WELER)
0.104 m3 = ((0.000 * 0.000) — (0.520 * 0.000)) * 0.000 + ((0.520 * 0.200) * (1.000 + 0.000 + 0.000 + 0.000))
7% L5y 1 [BEmpiscR = (GEFIE - %miE) X B4 X BRIER) + CREiE X B4 X (LTIER + /LR + AHEE + MEER))
(GhZEHRED) 0.026 m3 = ((0.000 — 0.520) * 0.050 * 0.000) + (0.520 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
A5 1 [k = asmss U8 L&
CES 0.026 m3 = 0.026
7% L5y 1 [HE = maEUE LR
(HEH) 0.369 m3 = 0.369
&5 2 [BE = mEEE LR
(HEH) 0.260 m3 = 0.260
7% L5y 1 [HE = AR BB LR
(HEAHE D) 0.104 m3 = 0.104

- 24 - T R AKGE R



T I % E Bt E E (f & x )
RETEEEES © 15000400
| T@EEs | 07 | I@&% |[XKRHAPEGI00XAEISE L—+&S [ ot | J—r&% [%&DP=1200 G100xW100
JETER| ER G M Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
32.000 m = ((32.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * L.000
AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (32.000 + 0.000 + 0.000 + 0.000))
Jin 1 [MEsE = EEiE x B X (ETHEE + SRIEE + sURIEE + WEER)
8.520 m3 = 0.375 % 0.710 * (32.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
6.600 m3 = 0.375 * 0.550 * (32.000 + 0.000 + 0.000 + 0.000)
WA Y 1|5 = IR X B2 X (LTHEE + RIUER + AMER + WMEER)
0.720 m3 = 0.375 % 0.060 * (32.000 + 0.000 + 0.000 + 0.000)
R 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (32.000 + 0.000 + 0.000 + 0.000))
HAREIR 1 & = (EFRIRE - SR X FFREER) + (@R X (ETER + RIEE + 3UREE + BEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (32.000 + 0.000 + 0.000 + 0.000))
HARIEIR 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (32.000 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
IEES | 07 | I@AM  |(KRRHAPEY100KEISE -8 | ot | J—r&# [5E&DP=1200 G100xW100
JE TR R G Y N A - -
PEERD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
8.520 m3 = ((0.000 — 0.375) * 0.710 * 0.000) + (0.375 % 0.710 % (32.000 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
3.432 m3 = ((0.000 - 0.375) * 0.310 * 0.000) + (((0.375 * 0.310) - 0.009) * 32.000) + (0.375 * 0.310 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
0.720 m3 = ((0.000 * 0.000) - (0.375 * 0.000)) * 0.000 + ((0.375 * 0.060) * (32.000 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(Hm ) 0.600 m3 = ((0.000 — 0.375) * 0.050 * 0.000) + (0.375 % 0.050 * (32.000 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.600 m3 = 0.600
Fk A5y 1 |FEE = EEE LS e
CHiil) 8.520 m3 = 8.520
RN 2 Mok = mEIELE
(Jitin) 6.600 m3 = 6. 600
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 0.720 m3 = 0.720
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T I % E Bt E E (f & x )
RETEEEES © 15000400
| T@EEs | 07 | I@&% |[XKRHAPEGI00XAEISE L—+&S [ 02 [ JL—Fr&% [91E8DP=1200 G100xW100
JETER| ER G M Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) % 0.000)) * 1.000
AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
Jin 1 [MEsE = EEiE x B X (ETHEE + SRIEE + sURIEE + WEER)
4.792 m3 = 0.750 * 0.710 * (9.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
3.712 m3 = 0.750 * 0.550 * (9.000 + 0.000 + 0.000 + 0.000)
WA Y 1|5 = IR X B2 X (LTHEE + RIUER + AMER + WMEER)
1.417 m3 = 0.750 * 0.210 * (9.000 + 0.000 + 0.000 + 0. 000)
R 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
HAREIR 1 & = (EFRIRE - SR X FFREER) + (@R X (ETER + RIEE + 3UREE + BEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
HARIEIR 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
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T I % E Bt E E (f & x )
SRETEEEES : 15000400 L)k ETE]
| T@EEs | 07 | I@&% |[XKRHAPEGI00XAEISE L—+&S [ 02 [ JL—Fr&% [91E8DP=1200 G100xW100
JETER| ER G M Bl /B =
JEHIHD R L 1 [k = (GEFIE - 3008 X B4 X fFEE) + GRHEIE X B2 X (LTER + RIFEE + AIEE + BEEE))
4.792 m3 = ((0.000 - 0.750) * 0.710 % 0.000) + (0.750 % 0.710 * (9.000 + 0.000 + 0.000 + 0.000))
PEFIE D R L 2 |FE = (GRPIE - @) X B4 X BPFRER) + ((CFEiE X JBR) - FmfE) X LTER) + GFlE X EAL X (RIEEE + REEE + MEER))
2.011 n3 = ((0.000 — 0.750) * 0.310 * 0.000) + (((0.750 * 0.310) - 0.009) * 9.000) + (0.750 x 0.310 * (0.000 + 0.000 + 0.000))
EETHEOREL | 1 R = (RFEER X E2) - GRaiblanE x BEES) X FERE + GRBREEEE < 845 X (LTHEE + R/IUER + AMEER + MEER)
1417 m3 - <<o 000 * 0. 000) ~ (0. 750 * 0.000)) * 0.000 + ((0.750 * 0.210) % (9.000 + 0.000 + 0.000 + 0.000))
By e 1 &R R = (PR - 5EE) X JBA X FPRER) + GRER X EhL X (ETHEE + RIEEE + REEE + MEIER))
(R ) 0.337 m3 = ((o 000 — 0.750) * 0.050 * 0.000) + (0.750 % 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
7% LAy )@ 1 [BcE = shismsss g LR
(R m ) 0.337 m3 = 0. 337
¥ Ay e 1 = JEHIEE
(Hii) 4.792 m3 = 4.792
RN 2 M = mEEYE LR
(i) 3.712 m3 = 3.712
By e 1 |FE = MR FIE L=
(HEAIR Y ) 1,417 m3 = 1.417
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T I % E f E & (8t &8 % )
BEtEEEES . 15000400
| TiEEFS | 07 | TiEAH [(ERHAPES100KEIE [L-rES [ 03 | —r&% [BEREHE G100 xW100

JE f EH A

SR G 1 [ = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slimyig) < MFmEi) < ok
31.000 m = ((31.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * 1.000

S 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

$ig 1) 1 [Edsch = EiiE X B X (ETHER + RRER + ARIER + WMEER)
11.276 m3 = 0.375 * 0.970 * (31.000 + 0.000 + 0.000 + 0.000)
Ji 1) o kR = (G X B - &hf) X (LTEE + BEER)) + Rl X B4 X RIEE + RIREE))

2.635 m3 = (((0.375 * 0.240) — 0.005) * (31.000 + 0.000)) + (0.375 * 0.240 * (0.000 + 0.000))

A IH 1 [ = (GkFiE - SEiE) X RERIRIER) + GRliE X (LTHER + /LR + RAHEE + MEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

AL 1 [ = (GkFPiE - SEiE) X RERIRIER) + GRliE X (LTER + R/EE + AWEE + MEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (31.000 + 0.000 + 0.000 + 0.000))

AL 2 [HE = (IR - %EiE) X MFER) + GHEiE X (TR + 2EE + AREE + HEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

JEHELD R L 1 [ = (kPR - SEiE) X Bh X SFER) + (HEE X Eh X (LTHEE + 2IER + AR + MELER))

11. 276 m3 = ((0.000 — 0.375) * 0.970 * 0.000) + (0.375 * 0.970 * (31.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400[ L H)EEEE]
| TiE®E [ 07 | THEEH [XBHAPES100KEIE -8 [ 03 | J—Fr&% [BEERE#E G100xW100
[El FH - A S
7% Ly @ 1 |sEmi = (PR - %R X B X SFEREE) + (RliE X Eh X (ETEE + AREE + RIEE + HEHEE))
(AfiZERHD) 0.581 m3 = ((0.000 — 0.375) * 0.050 * 0.000) + (0.375 * 0.050 * (31.000 + 0.000 + 0.000 + 0.000))
RG] 1| = SRR e R
(il ) 0.581 m3 = 0.581
7% LAy @ 1 [ = dmyiss s 1k
(BEH) 11.276 m3 = 11.276
RG] o Kok = mEIEE
CHii) 2.635 m3 = 2.635
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T I # 2 5 & & it E x )
BEtEEEES . 15000400
| TiEEFS | 07 | TiEAH [(ERHAPES100KEIE [L-rES [ 04 | J—r&# [EHiBG100xW100

JE f EH A

SR G 1 [ = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slimyig) < MFmEi) < ok
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000

S 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

$ig 1) 1 [Memdch = WliE X JEh X (ETHEE + AWERE + RAREE + MELER)

0.862 m3 = 0.750 * 1.150 * (1.000 + 0.000 + 0.000 + 0.000)

S I 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

AL 1 [ = (GkFiE - SEiE) X RERIRIER) + GRliE X (LTHER + /LR + RAHEE + MEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

AL o [HE = (SR - %EiE) X MFER) + (5ElE X (LTEE + 2EE + AREE + BEER))
0.750 m2 = ((0.000 — 0.750) = 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

JEHELD R L 1 [ = (GkFiE - SEiE) X B4 X fFER) + (R X Eh X (LTHEE + RIER + AMER + MELER))
0.532 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
JEHELD R L o [HE = (SR - %EiE) X B X MFRER) + CGFliE X Bh X (TR + /LR + AEE + MEEER))

0.150 m3 = ((0.000 — 0.750) * 0.200 * 0.000) + (0.750 * 0.200 * (1.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400 L #)EEEHE]
| TiE®E [ 07 | THEEH [XBHAPES100KEIE L—+rES [ 04 | J—r&#  |E#EG100xW100
Je& FERI] FHEEE R A
7% LA I 1 [SEmEER = (PR - %) X 25 X MFRIER) + GRllE X 25 X (LTHER + RIBEE + sURIER + HIVER))
(EliZEHR A 0.037 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
7 A5 T 1 [BR = SR UE &
Cr=iD) 0.037 m3 = 0. 037
7% LAy I 1|5 = s UE LR
(BEH) 0.862 m3 = 0. 862
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T T &% E ft E & (f & X )
REEEESES . 15000400
[ TEEs | 11 | TI#E8% |URBIKETSVPHI100KETSE L—+&S [ ot | J—r&% [#E&DP=400 W100x G100

JE TR R G Y N A - -

B 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
27.900 m = ((27.900 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.350) * 0.000)) * I.000

ElER A 1 (& = (GEFR - SEE) X MPRER) + (FlE X (ETER + RIGER + TR + MEIER))
9.765 m2 = ((0.000 — 0.350) * 0.000) + (0.350 % (27.900 + 0.000 + 0.000 + 0.000))

il 1 [k = SimiE X 5 X (LTEE + MREE + SURIEE + BEER)

4,491 m3 = 0.350 * 0.460 * (27.900 + 0.000 + 0.000 + 0.000)

EHELE IR 1 (& = (PR - SEE) X MPER) + (FlE X (ETER + RIGER + TR + MEIER))
9.765 m2 = ((0.000 — 0.350) * 0.000) + (0.350 % (27.900 + 0.000 + 0.000 + 0.000))

A IH 1 [ EE = ((EFIE - SliE) X fFEER) + (Fag X (ETER + RIEER + IEER + MEER))

9.765 m2 = ((0.000 — 0.350) * 0.000) + (0.350 * (27.900 + 0.000 + 0.000 + 0.000))

TRHIEE D R L 1 [EE = (IR - EE) X B X #FEER) + (Rl X ER) - Fm) X hTER) + (Gl X EA X (RUER + SURER + #fEER))

1.897 m3 = ((0.000 - 0.350) * 0.220 * 0.000) + (((0.350 * 0.220) - 0.009) * 27.900) + (0.350 * 0.220 * (0.000 + 0.000 + 0.000))

By fE 1 &SNS = (GEFIR - R X JBEA X EPEER) + (FERE X S X (ETHER + RIELERE + RIEER + fFEER))
(EliZEHRHD) 0.488 m3 = ((0.000 — 0.350) * 0.050 * 0.000) + (0.350 * 0.050 * (27.900 + 0.000 + 0.000 + 0.000))
Fk A5y 1 [ = WERERE S LR
(GHAEHEH]) 0.488 m3 = 0. 488
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T I % E & HE iR %)
SRETEEEES : 15000400 L)k ETE]
| TiEES | 11 | THEAH  |URB)KETSVPHI100AETE - &S [ or | J—r&% |#5%DP=400 W100x G100
JE TR E G A =
7% Ly e 1 [%ok = sl s Lk
(i) 4.491 m3 = 4.491
— 3/1 —
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T T &% E ft E & (f & X )
REEEESES . 15000400
[ TEEs | 11 | TI#E8% |URBIKETSVPHI100KETSE L—+&S | 02 | J—r&% [onE&DP=1200 W100x G100
JE TR R G Y N A - S
B 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
ElER A 1 (& = (GEFR - SEE) X MPRER) + (FlE X (ETER + RIGER + TR + MEIER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (9.000 + 0.000 + 0.000 + 0.000))
il 1 [k = SimiE X 5 X (LTEE + MREE + SURIEE + BEER)
8.842 m3 = 0.750 * 1.310 * (9.000 + 0.000 + 0.000 + 0.000)
MERYE Y 1 [FE = JEHE X BEA X (ETUEE + RIMER + SRER + MEER)
1.350 m3 = 0.750 * 0.200 * (9.000 + 0.000 + 0.000 + 0.000)
AEEIE IR 1 [ EE = ((EFIE - SliE) X fFEER) + (Fag X (ETER + RIEER + IEER + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (9.000 + 0.000 + 0.000 + 0.000))
AR IH 1 (& = (PR - SEE) X MPER) + (FEE X (ETER + RIGERE + TR + MEIER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (9.000 + 0.000 + 0.000 + 0.000))
PEEBRD R L 1 [E = (GlEFR - SEE) X ESR X SFFRER) + (CH@E X EA) - Fmk) X LTIEE) + (F@EE X BEA X (RIMEE + fBEE + fEER))
7.042 m3 = ((0.000 - 0.750) * 1.070 % 0.000) + (((0.750 * 1.070) - 0.020) * 9.000) + (0.750 % 1.070 * (0.000 + 0.000 + 0.000))
B TFHOR L 1 |[EE = (MPEEEE X BEA) - (FEiilEEE X ZEER)) X MPRERE + (FEEHIEERE X ER) X (ETMEE + RIPEE + TR + MEER)

1.350 m3 = ((0.000 * 0.000) - (0.750 * 0.000)) * 0.000 + ((0.750 * 0.200) * (9.000 + 0.000 + 0.000 + 0.000))
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T I % E Bt E E (f B % )
SRETEEEES : 15000400 L)k ETE]
[ TrE®&E | 11 | TEE&% |URB)KETSVPHI00AETSE - &S [ 02 | JW—r&#% [t0ES0DP=1200 W100x G100
JETER E B S F & =
Ay 1 [EZEmAEEE = (GRFIRE - SR X BEhA X HFREEER) + (R X EA X (ETHIER + fiER + ek + MEER))
(i m ) 0.337 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 % 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
7 LAy 8 1B = shismsg UE LR
(ElZEHm A1) 0.337 m3 = 0.337
7% L5y 8 1 [k = masus e
i) 8.842 m3 = 8.842
7 LAy 8 1 [HE = itamo BB LR
(iEAx 0 0) 1.350 m3 = 1.350
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T I % E f E & (8t &8 % )
BEEEEEES . 15000400
[ TEE= | 1 | TEE% [URB)KETSVPHI00AETSE [L-+&E [ 03 | w—tre#H [EBREEE
& F) EHEEEEE T A T
SR 1 [BE = (BEFIE - @) X SFEER) + ORHEIE X (ETAEE + ABIEE + AMRIER + WEER))
9.765 m2 = ((0.000 — 0.350) = 0.000) + (0.350 * (27.900 + 0.000 + 0.000 + 0.000))
(] 1 [EsE = HEiE X Bh X (ETAEE + ARIEE + ARIER + WEER)
2.148 m3 = 0.350 * 0.220 * (27.900 + 0.000 + 0.000 + 0.000)
$ie 1 2 |MemkcE = (CkimiE x J574) - Bl X (ETEE + MEER)) + CRliE X 55 X (RIIER + AHIEE))
2.092 m3 = (((0.350 * 0.240) — 0.009) * (27.900 + 0.000)) + (0.350 * 0.240 * (0.000 + 0.000))
A%EHE IH 1 [BE = (HEFIE - @) X SRR + QIR X (ETIEE + ARIEE + AMRIER + WEER))
9.765 m2 = ((0.000 — 0.350) = 0.000) + (0.350 * (27.900 + 0.000 + 0.000 + 0.000))
A1 IH 1 [BE = (BEFIE - @) X SFEER) + ORHEIE X (ETHEE + ABIEE + AMRIER + WEER))
9.765 m2 = ((0.000 — 0.350) = 0.000) + (0.350 * (27.900 + 0.000 + 0.000 + 0.000))
A1 H o [BE = (TR - %EiE) X MFRIEE) + OR@iE X (ETHER + RIBER + ARER + MELER))
9.765 m2 = ((0.000 — 0.350) = 0.000) + (0.350 * (27.900 + 0.000 + 0.000 + 0.000))
S B L 1 [BE = (GEFIE - @) X B4 X SFER) + GREIE X B4 X (ETHER + RER + AER + MELER))
2.148 m3 = ((0.000 — 0.350) * 0.220 * 0.000) + (0.350 * 0.220 * (27.900 + 0.000 + 0.000 + 0.000))
7% L5y 8 1 [GEEmEE = ((BFIE - 5@0E) X B4 X fFIIER) + GREIE X B4 X (ETHER + RIEER + ARER + MELER))
(GhZEHRED) 0.488 m3 = ((0.000 — 0.350) * 0.050 * 0.000) + (0.350 * 0.050 * (27.900 + 0.000 + 0.000 + 0.000))
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T I % E H =H itE X )
SBEEEEES . 15000400 [ HA)EEEE]
| TEEE | 11 | TEAH |URBDKETSVPOI100KETE [L-+&E [ 03 | w—tre#H [EBREEE
JE R B [;t & A #m S # 'K
5 -4 1 [ = semsE U8 &
T 0.488 m3 = 0.488
75 1 |[HE - mEEUE L&
(HEH) 2.148 m3 = 2. 148
7 -4y 2 [mcE = mEEE R
(HiEED 2.092 m3 = 2.092
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T I % E f E & (8t &8 % )
BEEEEEES . 15000400
[ Tr®s | 12 | TEEH |RBHKKEIE = [ ot | J—r&# [#%DP=400 #330 x 50

& F) EHEEEEE A T

S B 1 [E = (ETEE + REVIEE + AMIEE + HEEE) + (GETFRHIE - %@imsig) < HFREPE) < ik
3.200 m = ((3.200 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.294) * 0.000)) * 1.000

SR 1 [BE = (HEFIE - @) X SRR + ORI X (ETHEE + 2RIEE + AMRIER + WMEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))

$ie 1 1 [Edsch = EiiE X B X (ETHER + RRER + ARIER + WMEER)

0.357 m3 = 0.294 * 0.380 * (3.200 + 0.000 + 0.000 + 0.000)

WA Y 1 [BE = IR X B4 X (ETHER + RER + AER + MELER)
0.028 m3 = 0.294 * 0.030 * (3.200 + 0.000 + 0.000 + 0.000)

S A 1 [BE = (BEFIE - @) X SFEER) + ORHEIE X (ETHEE + ABIEE + AMRIER + WEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))

A1 H 1 [BE = (HEFIE - @) X SFEER) + ORI X (ETIEE + 2ABIEE + AMRIER + WEER))
0.940 m2 = ((0.000 — 0.294) = 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))

S B L 1 [BE = (GEFIE - @) X B4 X SFER) + GREIE X B4 X (ETHER + RER + AER + MELER))
0.131 m3 = ((0.000 — 0.294) * 0.140 * 0.000) + (0.294 * 0.140 * (3.200 + 0.000 + 0.000 + 0.000))
BETHEDREL | 1 & = (REFEEE X 52) - GLBMEIEEE X BEEAL) X MFRER + CREmEEEE X B X (LTEE + 2ER + ARER + WELER)

0.028 m3 = ((0.000 * 0.000) - (0.294 * 0.000)) * 0.000 + ((0.294 * 0.030) * (3.200 + 0.000 + 0.000 + 0.000))
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T I % E f E & (8t &8 % )
BEHEEEMES . 15000400 [ HH)EEHE]
[ Tr®s | 12 | TEEH |RBHKKEIE = [ ot | J—r&# [#%DP=400 #330 x 50
& F) EHEEEEE A T
7% ALy 8 1 [sEEmEsE = ((REFIE - @08 X B4 X GFIIER) + GREiE X B4 X (ETHER + RIER + AER + MELER))
(AfiZERHD) 0.047 m3 = ((0.000 — 0.294) * 0.050 * 0.000) + (0.294 * 0.050 * (3.200 + 0.000 + 0.000 + 0.000))
7% L5y 8 1 [E = aEmns e La
CEE 0.047 m3 = 0.047
7% ALy 8 1 [ = meEUE L&
(HEH) 0.357 m3 = 0.357
7% L5y 8 1 |BE - s BB LE
(HERIE D) 0.028 m3 = 0. 028
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T I % E f E & (8t &8 % )
BEtEEEES . 15000400
| TiEES | 12 | THEAHm |RBBKEIS [L-rES [ 02 | J—Fr&# |L1EER GERRER) #50 X 4530

e f EH I A

S G 1 [HE = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slmyiig) < MFmEi) < ok
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.480) * 0.000)) * 1.000

S 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

$ig 1) 1 [Memdch = WliE X JEh X (ETHEE + AWERE + RAREE + MELER)

0.566 m3 = 0.480 * 1.180 * (1.000 + 0.000 + 0.000 + 0.000)

A v 1 [ = mlE X BEh X (LTHEE + 2EE + ARER + WEER)
0.110 m3 = 0.480 * 0.230 * (1.000 + 0.000 + 0.000 + 0.000)

A IH 1 [ = (GkFiE - SEiE) X RERIRIER) + GRliE X (LTHER + /LR + RAHEE + MEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

AL 1 [ = (GkFPiE - SEiE) X RERIRIER) + GRliE X (LTER + R/EE + AWEE + MEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

JEHELD R L 1 [ = (GkFiE - SEiE) X B4 X fFER) + (R X Eh X (LTHEE + RIER + AMER + MELER))
0.451 m3 = ((0.000 — 0.480) * 0.940 * 0.000) + (0.480 * 0.940 * (1.000 + 0.000 + 0.000 + 0.000))
I FHDR L 1 [ = (PSR x B2 - GREREIEEKE X BEEAR) X MFRIERE + CRalyEIEE X B4 X (LTEE + 2ERE + ARER + MEER)

0.096 m3 = ((0.000 * 0.000) — (0.480 * 0.000)) * 0.000 + ((0.480 * 0.200) * (1.000 + 0.000 + 0.000 + 0.000))
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T I % E f E & (8t &8 % )
LEHEGEEES . 15000400 L HEEEE]
| TiEES | 12 | THEAHm |RBBKEIS [L-rES [ 02 | J—Fr&# |L1EER GERRER) #50 X 4530
e f EH I A
&5 1 [Bismpisch = (GEFIE - %imiE) X 24 X BRER) + GREiE X Bh X (LTER + /MUEE + RHEE + WMEER))
(AfiZERHD) 0.024 m3 = ((0.000 — 0.480) * 0.050 * 0.000) + (0.480 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
7% L5y R S ESEER
) 0.024 m3 = 0.024
& A5 1 [HE = weEUE LR
(HEH) 0.566 m3 = 0. 566
7% L5y 1 [HE = AR BB LR
(HEATE D) 0.110 m3 = 0.110

_/12_

kT A AGE R



T I % E f E & (8t &8 % )
BEtEEEES . 15000400
| TiEEE | 12 | THEAH |[(EHHRKESIE [L-rES [ o3 | w—r&a# |EREE=
e f EH I A
S ) 1 [ = (GkFPiE - SEiE) X REFIRIER) + GREiE X (TR + /LR + AHEE + WMEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))
$i 1) 1 [k = EEiE X Eh X (LTEE + 2ERE + AMER + WEER)
0.159 m3 = 0.294 * 0.170 * (3.200 + 0.000 + 0.000 + 0.000)
$ig 1) 2 @k = %miE X 24 X (ETEE + [RER + )IREE + MEER)
0.225 m3 = 0.294 * 0.240 * (3.200 + 0.000 + 0.000 + 0.000)
S I 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))
AL 1 [ = (GkFiE - SEiE) X RERIRIER) + GRliE X (LTHER + /LR + RAHEE + MEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))
AL o [HE = (SR - %EiE) X MFER) + (5ElE X (LTEE + 2EE + AREE + BEER))
0.940 m2 = ((0.000 — 0.294) * 0.000) + (0.294 * (3.200 + 0.000 + 0.000 + 0.000))
JEHELD R L 1 [ = (GkFiE - SEiE) X B4 X fFER) + (R X Eh X (LTHEE + RIER + AMER + MELER))
0.159 m3 = ((0.000 — 0.294) * 0.170 * 0.000) + (0.294 * 0.170 * (3.200 + 0.000 + 0.000 + 0.000))
7% L5y 1 [BEmpiscR = (GETFIE - %miE) X B4 X BRIER) + GREiE X B4 X (LTER + R/EE + AHEE + MEER))
(GhZEHRED) 0.047 m3 = ((0.000 — 0.294) = 0.050 * 0.000) + (0.294 % 0.050 * (3.200 + 0.000 + 0.000 + 0.000))

_/13_

kT A AGE R




T I # 2 5 & & it E x )
LEHEGEEES . 15000400 L HEEEE]
| TiEEE | 12 | THEAH |[(EHHRKESIE [L-rES [ o3 | w—r&a# |EREE=

e f EH I A

&5 1 [k = asmss U8 L&

CES 0.047 m3 = 0.047

7% L5y 1 [HE = maEUE LR
i) 0.159 m3 = 0. 159

& A5 2 [BE = mEEE LR
(HEH) 0.225 m3 = 0.225
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T T &% E ft E & (f & X )
REEEESES . 15000400
[ TrE®ZE | 14 | TIHEE#H |[@ERBEKEHPPES 150AETE L—+rES [ o1 | JL—r&% [#E&DP=1200 G150 xW150
JE TR R G Y N A - S
B 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
19.700 m = ((19.700 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000
ElER A 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
8.372 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (19.700 + 0.000 + 0.000 + 0.000))
i 1 [EEsc = %EiE X B X (ETER + AMER + AIEE + MEER)
5.944 m3 - 0.425 % 0.710 * (19.700 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
5.190 m3 = 0.425 * 0.620 * (19.700 + 0.000 + 0,000 + 0.000)
) 1 Mk = IR X B X (ETHER + RUER + AWER + WEER)
0.418 m3 = 0.425 * 0.050 * (19.700 + 0.000 + 0.000 + 0.000)
EHELE IR 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
8.372 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (19.700 + 0.000 + 0.000 + 0.000))
A IH 1 [ EE = ((EFIE - SliE) X FEER) + (Fag X (ETiER + RIEER + IEER + MEER))
8.372 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (19.700 + 0.000 + 0.000 + 0.000))
AR IH 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
8.372 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (19.700 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
IEES | 14 | IBAM  |[BERR)IKEHPPEQ150KETE L—+&S | ot | J—r&# [5E&DP=1200 G150xW150
JE TR R G Y N A - S
PEHHRD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
5.944 m3 = ((0.000 — 0.425) * 0.710 * 0.000) + (0.425 * 0.710 * (19.700 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
2.689 m3 = ((0.000 — 0.425) * 0.380 * 0.000) + (((0.425 * 0.380) — 0.025) * 19.700) + (0.425 % 0.380 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEEE X L) - CGRERHEEE X BEER)) X MPREE + GRBEAEERE X EL) X (ETER + {ERE + 3T + fETR)
0.418 m3 = ((0.000 * 0.000) — (0.425 * 0.000)) * 0.000 + ((0.425 * 0.050) * (19.700 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(PRI 0.418 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 % 0.050 * (19.700 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.418 m3 = 0.418
Fk A5y 1 |FEE = EEE LS e
CHiil) 5.944 m3 = 5.944
RN 2 Mok = mEIELE
(Jitin) 5.190 m3 = 5. 190
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 0.418 m3 = 0. 418
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T T &% E ft E & (f & X )
REEEESES . 15000400
[ T@EEs | 14 | I#EE% |GERB)IKEHPPEG 150KETE L—+&S [ 02 | J—r&% [E&DP=600 G150xW150
JE TR R G Y N A - S
B 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
6.300 m = ((6.300 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000
ElER A 1 (& = (GEFR - SEE) X MPRER) + (FlE X (ETER + RIGER + TR + MEIER))
2.677 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (6.300 + 0.000 + 0.000 + 0.000))
il 1 [k = SimiE X 5 X (LTEE + MREE + SURIEE + BEER)
0.294 m3 = 0.425 * 0.110 * (6.300 + 0.000 + 0.000 + 0.000)
HEH| 2 e = HEiE X ER X (ETER + RIUER + RTEE + fEER)
1.660 m3 = 0.425 * 0.620 * (6.300 + 0.000 + 0.000 + 0. 000)
it v 1 [BE = WEE X B X (ETHEE + RIEE + SUBEE + BEEE)
0.133 m3 = 0.425 * 0.050 * (6.300 + 0.000 + 0.000 + 0.000)
EHELE IR 1 (& = (PR - SEE) X MPER) + (FEE X (ETER + RIGERE + TR + MEIER))
2.677 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (6.300 + 0.000 + 0.000 + 0.000))
A IH 1 [ EE = ((EFIE - SliE) X FEER) + (Fag X (ETiER + RIEER + IEER + MEER))
2.677 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (6.300 + 0.000 + 0.000 + 0.000))
AR IH 2 |HE = ((EPIE - EiE) X FRRER) + GF@E X (ETIER + RIUEE + TR + MEER))
2.677 m2 = ((0.000 — 0.425) * 0.000) + (0.425 % (6.300 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
IEES | 14 | IBAM  |[BERR)IKEHPPEQ150KETE L—+&S [ 02 | J—r&% [E&DP=600 G150xW150
JE TR R G Y N A - S
PEHHRD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
0.294 m3 = ((0.000 — 0.425) * 0.110 * 0.000) + (0.425 % 0.110 * (6.300 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
0.859 m3 = ((0.000 — 0.425) * 0.380 * 0.000) + (((0.425 * 0.380) — 0.025) * 6.300) + (0.425 % 0.380 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEEE X L) - CGRERHEEE X BEER)) X MPREE + GRBEAEERE X EL) X (ETER + {ERE + 3T + fETR)
0.133 m3 = ((0.000 * 0.000) — (0.425 % 0.000)) * 0.000 + ((0.425 * 0.050) * (6.300 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(PRI 0.133 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 % 0.050 * (6.300 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.133 m3 = 0.133
Fk A5y 1 |FEE = EEE LS e
CHiil) 0.294 m3 = 0.294
RN 2 Mok = mEIELE
CHii) 1.660 m3 = 1. 660
Fk A5y 1 |HEE = MR 18 e
(FERIED ) 0.133 m3 = 0.133
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T T &% E ft E & (f & X )
REEEESES . 15000400
[ T@EEs | 14 | I#EE% |GERB)IKEHPPEG 150KETE L—+&S | 03 | J—Fr&% [o1E#0DP=1200 G150xW150
JE TR R G Y N A - -
e 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
ElER A 1 (& = (GEFR - SEE) X MPRER) + (FlE X (ETER + RIGER + TR + MEIER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4500 + 0.000 + 0.000 + 0.000))
il 1 |l = liE X 54 X (ETHER + RUER + /iIEE + MEER)
2.396 m3 = 0.750 * 0.710 * (4.500 + 0.000 + 0.000 + 0.000)
HEH| 2 e = HEiE X ER X (ETER + RIUER + RTEE + fEER)
2.092 m3 = 0.750 * 0.620 * (4.500 + 0.000 + 0.000 + 0.000)
it v 1 [BE = WEE X B X (ETHEE + RIEE + SUBEE + BEEE)
0.675 m3 = 0.750 * 0.200 * (4.500 + 0.000 + 0.000 + 0.000)
EHELE IR 1 (& = (PR - SEE) X MPER) + (FEE X (ETER + RIGERE + TR + MEIER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4500 + 0.000 + 0.000 + 0.000))
A IH 1 [ EE = ((EFIE - SliE) X FEER) + (Fag X (ETiER + RIEER + IEER + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (4500 + 0.000 + 0.000 + 0.000))
AR IH 2 |HE = ((EPIE - EiE) X FRRER) + GF@E X (ETIER + RIUEE + TR + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4500 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
[ T@EEs | 14 | I#EE% |GERB)IKEHPPEG 150KETE L—+&S | 03 | J—Fr&% [o1E#0DP=1200 G150xW150
JE TR R G Y N A - -
PEERD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
2.396 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 % 0.710 * (4.500 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
1.170 m3 = ((0.000 — 0.750) * 0.380 * 0.000) + (((0.750 * 0.380) — 0.025) * 4.500) + (0.750 * 0.380 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEEE X L) - CGRERHEEE X BEER)) X MPREE + GRBEAEERE X EL) X (ETER + {ERE + 3T + fETR)
0.675 m3 = ((0.000 * 0.000) — (0.750 % 0.000)) * 0.000 + ((0.750 * 0.200) * (4.500 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(R ) 0.168 m3 = ((0.000 — 0.750) * 0.050 % 0.000) + (0.750 * 0.050 * (4.500 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.168 m3 = 0. 168
Fk A5y 1 |FEE = EEE LS e
(PEH) 2.396 m3 = 2.396
RN 2 Mok = mEIELE
CHii) 2.092 m3 = 2.092
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 0.675 m3 = 0.675
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T T & E ft E & (& B X )
REEEESES . 15000400
| TiE®E [ 14 | TiEEH  |@ERB)IKEHPPE® 150AETE L—+&S [ 04 | J—Fr8%  [BESREEEGI50 X WI150

JE TR R G Y N A - -

e 1 [BE = (ETHER + BEVER + RIFER + WMEER) + (GEFIRAE - SmimEiE < MEFRETTE)) X Sk
24.000 m = ((24.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000

ElER A 1 [FE = (GETiE - SEiE) X ERER) + GFlig X (ETHER + KIER + RIFERE + MEER))
10. 200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

HEH| 1 P = R X BA X (ETIEE + KRiEE + e E + fEIER)
10.098 m3 = 0.425 * 0.990 * (24.000 + 0.000 + 0.000 + 0.000)
R 2 |HEE = ((C5EE X BA) - Fmk) X (ETER + WMEER)) + QFlilg X Ei X (RIFEE + RIEER))

2.208 m3 = (((0.425 * 0.240) — 0.010) * (24.000 + 0.000)) + (0.425 * 0.240 * (0.000 + 0.000))

LR 1 [BeE = (GETdE - 5miE) X EPER) + OFilig X (ETHER + RER + RIFEE + MEER))
10.200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

FEAEAE IH 1 [FE = (GETiE - EiE) X PER) + GFlig X (ETHER + KIER + RIFERE + MEER))
10. 200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

AR IH 2 |FE = (PR - EEE) X SPEER) + G5EiE X (ETHER + SR + RIBER + WEER))
10.200 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (24.000 + 0.000 + 0.000 + 0.000))

PEHIEEO R L 1 [FaE = (GEPiE - EiE) X JBEA X fPEER) + QRlE X EA X (ETHER + SER + RIER + WEER))

10.098 m3 = ((0.000 — 0.425) * 0.990 * 0.000) + (0.425 * 0.990 * (24.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400[ L H)EEEE]
[ T@EEs | 14 | I#EE% |GERB)IKEHPPEG 150KETE L—+&S [ 04 | J—Fr8%  [BESREEEGI50 X WI150
[ELl EH - A S
7% LY@ 1 |aEmi = (GPIE - %R X B X SFEREE) + (RliE X Eh X (ETEE + AREE + RIEE + HEHEE))
(EliZEHR A 0.510 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 * 0.050 * (24.000 + 0.000 + 0.000 + 0.000))
RG] 1| = SRR e R
(il ) 0.510 m3 = 0.510
7% LAy @ 1 [ = dmyiss s 1k
(BEH) 10.098 m3 = 10. 098
RG] o Kok = mEIEE
CHii) 2.208 m3 = 2. 208
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T I % E B & iFE Ox )
RETEEEES © 15000400
[ TE®&E | 14 | TE4&%H |@ERR)KEHPPEGI50AETSE - &S | o5 | J—Fr&# [HiBG150 xW150

JETER| El G N B S F & =

AEE D)W 1 FEE = (ETEE + REVIEER + ER + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000

AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
0.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

] 1 [k = EEiE X Eh X (LTHEE + RIER + AMER + MEER)

0.862 m3 = 0.750 * 1. 150 * (1.000 + 0.000 + 0.000 + 0.000)

R 1 e = (([FFRE - e X SERRER) + (Gl X (ETIER + RIEEE + SRR + MEER))
0.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

A IH 1 |FE = (EFRIRE - 5EiE) X FFREER) + (FEiR X (ETER + RIEE + 3UREE + BEER))
0.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (1.000 + 0.000 + 0.000 + 0.000))

ARG 2 |FE = (PR - SR X BFFPEER) + GREE X (LTEE + RER + 3UiER + WEIER))
0.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

PEAIE DR L 1 |FE = (FIRE - iR X BEA X HFEER) + (FEE X EA X (TR + fiER + ek + fMEER))
0.532 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 % 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
PEHIE D R L 2 |FE = (GRFPIE - 5@ X B4 X MPRRER) + (5EE X BA X (ETIER + RIEE + TR + MEER))

0.150 m3 = ((0.000 — 0.750) * 0.200 * 0.000) + (0.750 % 0.200 * (1.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
RETEEEES ;. 15000400[ L 40EETE]
[ T@EEs | 14 | I#EE% |GERB)IKEHPPEG 150KETE L—+&S | 05 | J—r&%# [E#EG150xW150
JE TR R G Y N A - S
By e 1 &SNS = (GEFR - R X JBEA X EREER) + (SR X B X (ETHER + RIELERE + RIEER + FEER))
CESE) 0.037 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 % 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
RG] 1| = SRR e R
(GHAEHEH]) 0.037 m3 = 0.037
7% LAy @ 1 [ = dmyiss s 1k
(Jitin) 0.862 m3 = 0.862
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T T % it B F (

Bl

BRETEEEES - 15000400

BN R )

[ g8 | 14 | TIE4% |[@EREIKEHPPE® 150KETISE = | o6 | —re# [HES50 FEEDP=600
JE T EH E R S R A . S v
EHAL I 1 [E = ((ETEE + RIEVIER + BUUER + HEUEE) + (GEFRHIE - SH@EmEE) X HPRETE)) < GiEEEK
3.800 m = ((1.900 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 2.000)) * 2.000
ElER A 1 [ = EHE X (ETER + REER + RUUER + WEER)
1. 140 m2 = 0.600 * (1.900 + 0.000 + 0.000 + 0.000)
s 1[5k = WHE X B X (ETERE + RIMEE + SRR + MSER)
0.125 m3 = 0.600 * 0.110 * (1.900 + 0.000 + 0.000 + 0.000)
G5l 2 |HE = HHIE X BEH X (ETER + RIPER + RHUER + HEER)
0.570 m3 = 0.600 * 0.500 * (1.900 + 0.000 + 0.000 + 0.000)
A v 1 [Bd = WHE X B X (ETERE + RIMEE + SRR + MSTER)
0.057 m3 = 0.600 * 0.050 * (1.900 + 0.000 + 0.000 + 0.000)
EHELE IR 1 [FE = EHE X (ETER + RIER + RUUER + WEER)
1. 140 m2 = 0.600 * (1.900 + 0.000 + 0.000 + 0.000)
AR IH 1 [ BE = R X (ETER + RIER + ek + fEER)
1. 140 m2 = 0.600 * (1.900 + 0.000 + 0.000 + 0.000)
AR IH 2 |HE = HEE X (ETIER + RIEE + TR + MEER)
1. 140 m2 = 0.600 * (1.900 + 0.000 + 0.000 + 0.000)
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T T & E ft E & (& B X )
RETEEEES ;. 15000400[ L 40EETE]
IEES | 14 | IBAM  |[BERR)IKEHPPEQ150KETE L—+&S | 06 | I—F&% [HEH50 #3RDP=600
JE TR R G Y N A - -
SR B L 1 [BE = WEE X EA X (ETHEE + R/IEE + RBEE + WEEE)
0.125 m3 = 0.600 * 0.110 * (1.900 + 0.000 + 0.000 + 0.000)
PEEHED R L 2 |HE = (UEAE X B - FmEf) X LTIER) + GEHIE X ER X (REUER + 3UIEE + fEER))
0.292 m3 = ((0.600 * 0.260 — 0.002) * 1.900) + (0.600 * 0.260 * (0.000 + 0.000 + 0.000))
EETFTHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
0.057 m3 = ((0.600 * 0.000) — (0.600 % 0.000)) * 0.000 + ((0.600 * 0.050) * (L.900 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEERE R = EE X B X (ETER + RIUER + RUUER + WEER)
(R ) 0.057 m3 = 0.600 * 0.050 * (1.900 + 0.000 + 0.000 + 0.000)
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.057 m3 = 0.057
RN 1 [ = dmes UE 1k
(PEH) 0.125 m3 = 0. 125
RN 2 Mok = mEIELE
(Jitin) 0.570 m3 = 0.570
RG] 1 R = wepimo BUE La
(RiEA Y ) 0.057 m3 = 0.057
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T I % E f E & (8t &8 % )
BEtEEEES . 15000400
| TiEES | 15 | THEAH |MERDBKEIS [L-rES [ o1 | —Fr&¥ |UIEERCGERER) #50 x #4530

e f EH I A

S G 1 [HE = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slmyiig) < MFmEi) < ok
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.480) * 0.000)) * 1.000

S 1 [ = (GikFPiE - SEiE) X RERIRIER) + GRliE X (LTER + /LR + AWEE + MEEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

$ig 1) 1 [Memdch = WliE X JEh X (ETHEE + AWERE + RAREE + MELER)
0.340 m3 = 0.480 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
Ji 1) o |MmkiE = WEiE X B4 X (LTHEE + R/IEE + AEE + HEER)

0.230 m3 = 0.480 * 0.480 * (1.000 + 0.000 + 0.000 + 0.000)

fEA v 1 [ = mllE X B X (LTHEE + AER + ARER + WEER)
0.105 m3 = 0.480 * 0.220 * (1.000 + 0.000 + 0.000 + 0.000)

S IR 1 [ = (GkFPiE - SEiE) X RERIRIER) + GRliE X (LTER + R/EE + AWEE + MEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

AL 1 [ = (GikPiE - SEiE) X REFIRIER) + GRliE X (LTHER + /EE + AHEE + WMEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))

AL o [EE = (IR - %EiE) X MFER) + (5@l X (LTEE + 2EE + AREE + BEER))
0.480 m2 = ((0.000 — 0.480) = 0.000) + (0.480 * (1.000 + 0.000 + 0.000 + 0.000))
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T I % E f E & (8t &8 % )
LEHEGEEES . 15000400 L HEEEE]
TiEES | 15 | THEAH |MERDBKEIS [L-rES [ o1 | —Fr&¥ |UIEERCGERER) #50 x #4530
e f EH I A
JEHELD R L 1 [ = (kFiE - SEiE) X B2 X fFEE) + (R X Eh X (LTHEE + RIER + AMER + MELER))
0.340 m3 = ((0.000 — 0.480) * 0.710 * 0.000) + (0.480 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
JEHELD R L o [HE = (IR - %EiE) X Eh X MFRER) + (@R X B2 - Fmi) X LTER) + GHElE X 85 X (RIMER + AMIERE + MELER))
0.114 m3 = ((0.000 — 0.480) * 0.240 * 0.000) + (((0.480 * 0.240) — 0.001) * 1.000) + (0.480 * 0.240 * (0.000 + 0.000 + 0.000))
B FHD R L 1 [ = (F9EE x B2 - GHBREIEEEE X BEER) X MFRIERE + CRayEIEE X E4) X (LTEE + RER + AMIER + WELER)
0.105 m3 = ((0.000 * 0.000) — (0.480 * 0.000)) * 0.000 + ((0.480 * 0.220) * (1.000 + 0.000 + 0.000 + 0.000))
7% L5y 1 [BEmpiscR = (GEFIE - %miE) X B4 X BRIER) + CREiE X B4 X (LTIER + /LR + AHEE + MEER))
(GhZEHRED) 0.024 m3 = ((0.000 — 0.480) * 0.050 * 0.000) + (0.480 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
A5 1 [k = asmss U8 L&
CES 0.024 m3 = 0.024
7% L5y 1 [HE = maEUE LR
(HEH) 0.340 m3 = 0. 340
&5 2 [BE = mEEE LR
(HEH) 0.230 m3 = 0.230
7% L5y 1 [HE = AR BB LR
(fitRIEY) 0.105 m3 = 0. 105
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T I % E Bt E E (f & x )
RETEEEES © 15000400
| T®E | 18 | TE4&#H [(KB)KEHPPEQGIS0AETSE - &S [ ot | JW—r&#% [L1EE0DP=1200 G150 x W150
JETER| E G B S F & =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
4.500 m = ((4 500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (4.500 + 0.000 + 0.000 + 0.000))
] 1 [k = EEiE X Eh X (LTHEE + RIER + AMER + MEER)
2.396 m3 = 0.750 % 0.710 * (4500 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
2.092 m3 = 0.750 * 0.620 * (4 500 + 0.000 + 0.000 + 0.000)
At v 1 [ = IR X B2 X (ETER + RIFERE + AIEE + BELEE)
0.675 m3 = 0.750 % 0.200 * (4. 500 + 0.000 + 0.000 + 0.000)
R 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (4.500 + 0.000 + 0.000 + 0.000))
A IH 1 & = (EFRIRE - SR X FFREER) + (@R X (ETER + RIEE + 3UREE + BEER))
3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (4.500 + 0.000 + 0.000 + 0.000))
HARIEIR 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))

3.375 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
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T I % E Bt E E (f & x )
SRETEEEES : 15000400 L)k ETE]
| T®E | 18 | TE4&#H [(KB)KEHPPEQGIS0AETSE - &S [ ot | JW—r&#% [L1EE0DP=1200 G150 x W150
JETER| E G B S F & =
PEAIE D R L 1 |FE = (RFIRE - iR X BEA X HFREER) + (R X BEA X (TR + fifEkR + ek + fEER))
2.396 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 % 0.710 % (4.500 + 0.000 + 0.000 + 0.000))
PEFIE D R L 2 |FE = (GRPIE - @) X B4 X BPFRER) + ((CFEiE X JBR) - FmfE) X LTER) + GFlE X EAL X (RIEEE + REEE + MEER))
1.170 m3 = ((0.000 — 0.750) * 0.380 * 0.000) + (((0.750 * 0.380) — 0.025) * 4.500) + (0.750 * 0.380 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEEE X L) - CGRERHEEE X BEER)) X MPREE + GRBEAEERE X EL) X (ETER + {ERE + 3T + fETR)
0.675 m3 = ((0.000 * 0.000) — (0.750 % 0.000)) * 0.000 + ((0.750 % 0.200) * (4. 500 + 0.000 + 0.000 + 0.000))
By e 1 &R R = (PR - 5EE) X JBA X FPRER) + GRER X EhL X (ETHEE + RIEEE + REEE + MEIER))
(Hm ) 0.168 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 % 0.050 * (4.500 + 0.000 + 0.000 + 0.000))
7% L5y 8 U [ = siimn s g Lt
(EliZE4m A1) 0.168 m3 = 0. 168
By e 1 |FE = mEFEIELE
(FRHI) 2.396 m3 = 2.396
7% L5y 8 2 | = mEEYE LR
(Jitin) 2.092 m3 = 2.092
By e 1 |FE = MR FIE L=
(iEAx 0 0) 0.675 m3 = 0.675
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T I % E Bt E E (f & x )
RETEEEES © 15000400
[ T@EE= | 19 | TEE%H [(RB)KEHPPEQP100KAETSE L—+&S [ ot | W—r&% [#&DP=1200 G100xW100
JETER E G M Bl /B =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEER) + (FFREIE - @) < FFmR&EITE)) X BRI
32.000 m = ((32.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * L.000
AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (32.000 + 0.000 + 0.000 + 0.000))
Jin 1 [MEsE = EEiE x B X (ETHEE + SRIEE + sURIEE + WEER)
8.520 m3 = 0.375 % 0.710 * (32.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
6.720 m3 = 0.375 * 0.560 * (32.000 + 0.000 + 0.000 + 0.000)
WA Y 1|5 = IR X B2 X (LTHEE + RIUER + AMER + WMEER)
0.600 m3 = 0.375 % 0.050 * (32.000 + 0.000 + 0.000 + 0.000)
R 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (32.000 + 0.000 + 0.000 + 0.000))
HAREIR 1 & = (EFRIRE - SR X FFREER) + (@R X (ETER + RIEE + 3UREE + BEER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (32.000 + 0.000 + 0.000 + 0.000))
HARIEIR 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
12.000 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (32.000 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
TEES | 19 | TIEAWM  |(RR)IKEHPPEQG100KETE -8 | ot | w—r&# [5E&DP=1200 G100xW100
JE TR R G Y N A - S
PEHHRD R L 1 & = ((EFIE - SliE) X BEh X EFER) + (RlE X JEi X (ETER + fRER + WIBER + EER))
8.520 m3 = ((0.000 — 0.375) * 0.710 * 0.000) + (0.375 % 0.710 % (32.000 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
3.488 m3 = ((0.000 — 0.375) * 0.320 * 0.000) + (((0.375 * 0.320) - 0.011) * 32.000) + (0.375 * 0.320 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
0.600 m3 = ((0.000 * 0.000) — (0.375 % 0.000)) % 0.000 + ((0.375 * 0.050) * (32.000 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(R ) 0.600 m3 = ((0.000 — 0.375) * 0.050 * 0.000) + (0.375 * 0.050 * (32.000 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.600 m3 = 0.600
Fk A5y 1 |FEE = EEE LS e
CHiil) 8.520 m3 = 8.520
RN 2 Mok = mEIELE
(Jitin) 6.720 m3 = 6.720
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 0.600 m3 = 0.600
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T I % E Bt E E (f & x )
RETEEEES © 15000400
[ T®&E | 19 | TE&#H [(KB)KEHPPEQG100AETSE - &S [ 02 | W—r&#% [L0&EE0P=1200 G100 xW100
JETER| E G B S F & =
AEE D)W 1 &= (ETEE + BBV IEER + TR + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
AEEEH 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
] 1 [MEsE = EEiE x B X (ETHEE + SRIEE + sURIEE + WEER)
4.792 m3 = 0.750 % 0.710 * (9.000 + 0.000 + 0.000 + 0.000)
HEH| 2 |FHmiE = HEiE X JBEAR X (ETIER + RIEER + SIBEE + MEER)
3.780 m3 = 0.750 * 0.560 * (9.000 + 0.000 + 0.000 + 0.000)
At v 1 [ = IR X B2 X (ETER + RIFERE + AIEE + BELEE)
1.350 m3 = 0.750 * 0.200 * (9.000 + 0.000 + 0.000 + 0.000)
R 1 e = (([FFRE - e X ERER) + (FlE X (ETIER + KRR + SR + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
A IH 1 & = (EFRIRE - SR X FFREER) + (@R X (ETER + RIEE + 3UREE + BEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 % (9.000 + 0.000 + 0.000 + 0.000))
HARIEIR 2 |[FE = (PR - SR X FFPEER) + GREE X (LTEE + HER + 3UiER + WEIER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
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T T &% E ft E & (f & X )
RETEEEES ;. 15000400[ L 40EETE]
TEES | 19 | TIEAWM  |(RR)IKEHPPEQG100KETE -8 [ 02 | J—r&% [o1E&0DP=1200 G100xW100
JE TR R G Y N A - -
PEHBRD R L 1 [ EE = ((EFIE - SliE) X BEh X EFER) + (RlE X JEAR X (ETER + fRER + WIBER + fEER))
4.792 m3 = ((0.000 - 0.750) * 0.710 * 0.000) + (0.750 % 0.710 * (9.000 + 0.000 + 0.000 + 0.000))
PEEHED R L 2 |HE = ((EFRIE - FEE) X JBh X MPHER) + (FER X BER) - k) X LTER) + GFliE X ER X (RIUER + 3UIEE + fEER))
2.061 m3 = ((0.000 — 0.750) * 0.320 * 0.000) + (((0.750 * 0.320) — 0.011) * 9.000) + (0.750 % 0.320 * (0.000 + 0.000 + 0.000))
EETHORL 1 e = (FPEEE X L) - CGRHERHEEE X HEER)) X HPRLEE + (FEEHIFRIE X EL) X (ETIER + KT + SIBEE + MEEE)
1.350 m3 = ((0.000 % 0.000) — (0.750 * 0.000)) % 0.000 + ((0.750 * 0.200) * (9.000 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEEmE R = ((ERIE - EEiE) X JBEA X MPHUER) + (F@lE X Eh X (ETIER + RIUEE + TR + MEER))
(R ) 0.337 m3 = ((0.000 — 0.750) * 0.050 % 0.000) + (0.750 * 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
7% L@ U | = SRR UE 1
(BHAEIEH]) 0.337 m3 = 0.337
Fk A5y 1 |FEE = EEE LS e
(PEH) 4.792 m3 = 4.792
RN 2 Mok = mEIELE
(Jitin) 3.780 m3 = 3. 780
Fk A5y 1 |HEE = MR 18 e
(RiEA Y ) 1.350 m3 = L. 350
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T I % E B E E (& & % )
BEEEEES . 15000400
| TrE®E | 19 | TIE&# |(FBIKEHPPEQ 100AETE v-r&S | 03 | W—t&#H [#EH50 EEDP=800

Je& 31 FHEEE A

EEIln U [ = (TR « AV EE + SIEE + MEHUER) + (RTIIEIE - siiiig < McFmEr)) X bk
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 2.000)) * 2.000

SR 1 [EE - WEE X (ETEE + R/IMER + SIEE + MSIER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)

il U [EE = e X EA X (ETIER + AIBEE + RIER + HER)
0.558 m3 = 0.600 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
il 2 [ = mAE X B X (ETEE + RIVERE + AUMER + WEEER)

0.900 m3 = 0.600 * 0.500 * (3.000 + 0.000 + 0.000 + 0.000)

) U [EE - mEE X EA X (ETIER + AIBEE + SRIER + HEER)
0.090 m3 = 0.600 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)

SN 1B - WEE X (LR + /MER + SIEE + MSIER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)

AR H U [EE - WEE X (LTEE + /MER + WIEE + MSER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)

AR H o [ = mAlE X (ETIER + RHMEE + RIER + HEER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
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T I &% E Bt ER & (§ & % )
RETEEEES ;. 15000400[ L 40EETE]
TiEES | 19 | THEAH [(ERFKEHPPEQ100AETE - &S | 03 | J—r8% [HE¢50 #EEDP=800
JE TR R G Y N A - -
B R b B L 1 [ = WEIE X ER X (ETHEE + KGR + 3URIERE + WZUER)
0.558 m3 = 0.600 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
PEEHED R L 2 |HE = (UEAE X B - FmEf) X LTIER) + GEHIE X ER X (REUER + 3UIEE + fEER))
0.462 m3 = ((0.600 * 0.260 — 0.002) * 3.000) + (0.600 * 0.260 * (0.000 + 0.000 + 0.000))
B THOR L 1 [HE = (MFEEERE X EA) - (FEiilEERE X ZEER)) X MPRER + (FEEfEER X ER) X (ETEE + RIGERE + AER + MZIEER)
0.090 m3 = ((0.600 * 0.000) - (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) % (3.000 + 0.000 + 0.000 + 0.000))
Fk A5y 1 |AEERE R = EE X B X (ETER + RIUER + RUUER + WEER)
e ) 0.090 m3 = 0.600 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
7% 145 1 (B = ssmEIgE U8 &
(BHAEIEH]) 0.090 m3 = 0.090
7% 4045 1 | = il U R
(1) 0.558 m3 = 0.558
7% 145 2 M = mHIEE LR
(i) 0.900 m3 = 0.900
7% 4045 ) 1 & = fitAmY BUs L&
(REAHRY) 0.090 m3 = 0.090
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T I % E f E & (8t &8 % )
BEEEEEES . 15000400
[ T@EE= | 19 | TEE%H [(RB)KEHPPEQP100KAETSE = [ 04 | W—r&#H [BESREEE G100xWI00

& F) EHEEEEE A

S b 1 [E = (ETEE + REVIEE + AMIEE + HEEE) + (GETFREIE - %@imsig) < HFREPE) < ik
31.000 m = ((31.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * 1.000

SR 1 [BE = (HEFIE - @) X SRR + ORI X (ETHEE + 2RIEE + AMRIER + WMEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

$ie 1 1 [mEk = EmiE X Eh X (ETIEE + RIIEE + URIEE + IEER)
11.276 m3 = 0.375 % 0.970 * (31.000 + 0.000 + 0.000 + 0.000)
] o |MmkcE = (Ckimig x J574) - BEb) X (LTEE + MEER) + CRliE X B4 X (RIIERE + AHIEER))

2.635 m3 = (((0.375 * 0.240) — 0.005) * (31.000 + 0.000)) + (0.375 * 0.240 * (0.000 + 0.000))

S A 1 [BE = (BEFIE - @) X SFEER) + ORHEIE X (ETHEE + ABIEE + AMRIER + WEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

A1 H 1 [BE = (HEFIE - @) X SFEER) + ORI X (ETIEE + 2ABIEE + AMRIER + WEER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 * (31.000 + 0.000 + 0.000 + 0.000))

A1 IH 2 B = (TR - %@iE) X MFIIEE) + OR@iE X (ETHER + RIBER + ARER + MELER))
11.625 m2 = ((0.000 — 0.375) * 0.000) + (0.375 % (31.000 + 0.000 + 0.000 + 0.000))

I R L 1 [BE = (BEFIE - @) X B4 X SFER) + GREIE X B4 X (ETHER + RER + ARER + MELER))

11. 276 m3 = ((0.000 — 0.375) * 0.970 * 0.000) + (0.375 * 0.970 * (31.000 + 0.000 + 0.000 + 0.000))
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T T & E ft E & (& B X )
BEEEEES . 15000400 L #)EEEHE]
|  TrE®ZE | 19 | TIHE&#H [(XRBKEHPPEP100KETE L—rBES [ 04 | J—r%#  [BEEREEE G100 X W100
Je& FERI] FHEEE R A
7% LA 1 [SEEmEER = (R - %W X 25 X SFRIER) + GRllE X 25 X (LTHER + RIBEE + sURIER + HIVER))
(AfiZERHD) 0.581 m3 = ((0.000 — 0.375) * 0.050 * 0.000) + (0.375 * 0.050 * (31.000 + 0.000 + 0.000 + 0.000))
7 A5 T 1 [BR = SR UE &
Cr=iD) 0.581 m3 = 0.581
7% LAy I 1|5 = s UE LR
(BEH) 11.276 m3 = 11.276
75T 2[R = mEEYE LR
(iit#1) 2.635 m3 = 2.635
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T I % E § E & iR XK )
REEEESES . 15000400
|  TrE®ZE | 19 | TIHE&#H [(XRBKEHPPEP100KETE L—rBES [ 05 | J—r&# |5#EG100xW100

JE TR R G Y N A - S

S 1 FEE = (ETEE + REVIEER + ER + fEIER) + (FFREIE - @) < FFmR&EITE)) X BRI
1.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) % 1.000

ElER A 1 e = (([FFRE - SliE) X ERER) + (FlE X (ETIER + RIEEE + SR + MEER))
0.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

i 1 |l = liE X 54 X (ETHER + RUER + /iIEE + MEER)

0.862 m3 = 0.750 * 1.150 % (1.000 + 0.000 + 0.000 + 0.000)

EHELE IR 1 e = (([FFRE - e X SERRER) + (Gl X (ETIER + RIEEE + SRR + MEER))
0.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

A IH 1 [ EE = ((EFIE - SliE) X fFEER) + (Fag X (ETER + RIEER + IEER + MEER))
0.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

AR IH 2 |FE = (PR - SR X BFFPEER) + GREE X (LTEE + RER + 3UiER + WEIER))
0.750 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (1.000 + 0.000 + 0.000 + 0.000))

PEEBRD R L 1 |FE = (FIRE - iR X BEA X HFEER) + (FEE X EA X (TR + fiER + ek + fMEER))
0.532 m3 = ((0.000 — 0.750) * 0.710 * 0.000) + (0.750 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000))
PEHHHD R L 2 |EE = ((EFRE - HEE) X JBEh X MPHER) + (F@lE X ER X (ETER + RIUEE + TR + MEER))

0.150 m3 = ((0.000 — 0.750) * 0.200 * 0.000) + (0.750 * 0.200 * (1.000 + 0.000 + 0.000 + 0.000))
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T I % E Bt E E (f B % )
RETEEEES © 15000400
[ T@EE= | 19 | TEE%H [(RB)KEHPPEQP100KAETSE L—+&S [ o5 | w—r&% [&#EG100xWi00
JETER| ER G o Bl /B =
Ay 1 [EEEmEEE = (GRFIRE - S5EiE) X A X FEER) + (R X EA X (TR + fiER + ek + MEER))
(i m ) 0.037 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 % 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
7% LY@ 1 [BR = SRR UE 1R
(ElZEHm A1) 0.037 m3 = 0.037
] 1 [BcE = w8 &
(i) 0.862 m3 - 0.862
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R6. 2 A {E1E ik

KIRDIRIE - Tk I tT®I x x x
1 1 1 iE 2y 3
W S ! = " s & £ ;ﬁ )
W ® o 2 5 ic i o Z =
| ) &l & 4 i
IS F S Y # 2 Bl e
§ & & =40 E # = &
= ©) @ ® @ ® ® @ ®
@/D*2 | B*2+Q ®/@
(m) (m) (t/m-#0) (m) (#) (t) ([ED) (1) (/) (m)
HRA%
eI 0.25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 1 2.0mEATF|1.1~1.5(G100W100
meEREyE|  0.25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 7 2.0mEATF|1.1~1.5[G150W150
RERUIE 0.25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 1 2.0mELTF| 1. .5|G100W100
KiEH
eI 0.25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 1 2.0mEATF|1.1~1.5(G100W100
wems-szan| (0,25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 7 2.0mEATF|1.1~1.5[G150W150
RERUIBE 0.25 2.0 0.0118 4.5 36 0. 8496 1 0. 8496 1 2.0mEATF| 1. .5|G100W100
(BERFXIR-TAH - 513kT) _
EHEIE
1.5mELF | 2. OmEA TR [ 2. 5mELF [ 3. OmELAF | 3. 5mEA R | 3. 8mLLF
R 13.5
JKiE 13.5
(XRI) _ (ERFXIRER] _
iRIE EHEIE FERE% | HABK EREREE |XEREAEE o)
2. 0mEATF [ 3. 5mEAF [ 3. 8mLAF 1[E] 78 2.5488 2.5t
0.9LF HR
. 0.9~1.1
AA 1.1~1.5 13.5 1[H] 7H 2.5488 2.5t
1.5~2.0 KE
0.9LLF
Kt 0.9~1.1 (REMERER)
1.1~1.5 13.5 ; EfEEs (L&)
1.5~2.0 AR 2.5t
KE 2.5t




